A

Multiply by 10.

© o3 © 207
(2 RE Q 135
©oss @ 69
©317 Qoa
© o002 D 544
Qo9 (B oos
Divide by 10.

(1333 D 39
D12 & 01
D 2 (2113
D o7 D 25
(1705 @ 74
D 43 2 o038
Copy and complete,
D[ |xw=08

D[ [x1w0=75

@[ |x1w=23

@[ |x10=106
@ D + 10 =47

@[ ]+10=022
(31] | J+10=09

@[ ]+10=305
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B

Multiply by:

Q35 @ os
© o6 © o065
©1024 © onm
Qoo @ 2s
O ss @ o002
Qo1 @ 42
Divide by:

® 5 ©® 290
P12 @ 54
©s30 @ 600
(1687 & 327
@ o6 € 18700
D @3
Copy and complete,

@ | |x10=006
@[ |+100=09
@ [ ]x100=45

@ [ ]+ 1000 = 0247
@ o002x[ =20
D83+ |=83

@ o0o0sx[ |=5

@ 400 <[ |=04

Copy and complete.

@ |xw0=08
© -100=04
©  |x1000=163
© |<w0=0207
© |x100=09
© | | +1000=0055

@osx[ =18
© 007 |=0007
© 006 x |=60
@12:] |=0012
Q 03x[ |=3
0290 .~D=0'29
Work out and write each
answer as a decimal.
Q one half of a tenth
0 one tenth of a tenth
one half of a
hundredth
What number is;

@ 10 times larger than
three quarters of 2

Q 100 times larger than a
half of a quarter

D 1000 times larger than
a twentieth?



Answers




